
  MODEL QUESTIONS PAPER  
      Apparel  Made-ups & Home furnishing 

            Class: 11th                                             
Time Allowed: 3 Hours                                          Maximum Marks: 40 Marks 
Instruction:- 
ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa mRrj nsaA 

Candidates are requires to give their answer in the own words as far as possible. 
Marks allotted to each question are indicated against it. 
fo'ks"k funsZ'k%& Special Instructions. 

I. iz'uksa ds mRrj nsrs le; tks iz'u la[;k iz'ku i= ij n'kkZbZ xbZ gS] mRrj&iqfLrdk ij ogh iz'u 
la[;k fy[kuk vfuok;Z gSA 

While answering your questions, you must indicate on your answer book the 
same question No. as appears in your question paper. 

II. mRrj&iqfLrdk dks chp&chp esa [kkyh iUuk@iUusa u NksMsa+A 

Do not leave blank page/pages in your answer book. 
III. mRrj laf{kIr vkSj LVhd gksuk pkfg,A 

Answer should be brief and to the point. 
IV. lHkh iz'ku vfuok;Z gSA 

All questions are compulsory. 
1 vad okys iz'uksa ds mRrj ,d 'kCn esa ;k ,d iafDr esa] 2 vad okys iz'uksa ds mRrj 20 ls 40 
'kCnksa esa] 3 vadks oky iz'uksa ds mRrj 40 ls 60 'kCnksa esa nsaA 

Answer the question of 1 marks in only one word or in a line, of 2 marks 20 to 
40 words, of 3 marks in 40 to 60 words. 
  Section-A  

Q.1. fuEufyf[kr iz'uksa ds mRrj nsaA        ¼8X1=8½ 
 Answer the following question. 
I. What is the shortcut key to underline text ins a spreadsheet? 
 LizSM'khV esa VsDLV dks vaMjykbZu djus dh 'kkWVZ dV dqath D;k gSA 

 a) Ctrl+B   b) Ctrl+I   c) Ctrl+L   d) Ctrl+U 

II. Which of these is time management? 
 a) Planning Well     b) Setting  Goals 
 c) Setting Deadline     d) None of these  
 buesa ls le; izca/ku dkSu lk gS\ 

 a) vPNh rjg ls ;kstuk cukuk    b) y{; fu/kkZfjr djuk  

 c) le; lhek fu/kkZfjr djuk    d) buesa ls dkbZ ugha 

III. Which of the following is the types of entrepreneurship based on the risk? 
 fuEufyf[kr esa dkSu lk m|ke'khyk dk izdkj tksf[ke ds vk/kkj ij gS\ 
 a) Drona ¼nzks.k½    b) Manufacturing ¼fofuekZ.k½ 
 c) Technical ¼rduhdh½   d) Macro ¼eSØks½ 
IV.   Fabric cut at 45 degree angle is.............? 
 diMs ds 45 fMxzh ds dks.k ij dkVk tkrk gS\ 

 a) Seam Allowance ¼lhou Hkrk½  b) Seam finish ¼lhou lekIr½ 
 c) Bias ¼ck;l½     d) Seam ¼lhou½ 



V.  Which seam is used to stitch zipper pocket.............? 
 ftij iySdsV dks flyus ds fy, fdl lhe dk mi;ksx fd;k tkrk gS\ 

 a) French ¼QzSap½    b) Lapped ¼ysiM½ 
 c) Bound ¼ckmaM½    d) Plain ¼Iysu½ 
VI. Which of  the following are common sustainable practices? 
 fuEufyf[kr esa ls dkSu lh lkekU; fVdkÅ izFkk,a gS\ 

 a) Reusing of waste water¼vof'k"V ty dk iqu% mi;ksx½  

 b) Conserving the rain water  ¼c"kZ ty dk laj{k.k½ 
 c) Segregating water at source ¼L=ksr ij vif'k"V ìFkDdj.k½   

 d) All of these ¼mijksDr lHkh½ 

VII.  Which of the following is not a stage of active listening? 
 fuEufyf[kr esa ls dkSu lfØ; Jo.k dk pj.k ugha gS\ 

 a) Receiving ¼izkIr djuk½   b) Understanding  ¼le>½ 

 c) Non-responding ¼xSj&izfrfØ;k½  d) Evaluating ¼ewY;kadu½ 

VIII. Which of the following is a common source of waste in the textile production 
 process? 
 fuEufyf[kr esa ls dkSu lk diMk mRiknu izfØ;k esa vif'k"kV dk ,d lkekU; L=ksr gS\ 

 a) Raw material ¼dPPkk eky½  

 b) Finished Product  ¼rS;kj mRikn½ 
 c) By Products ¼mRiknu }kjk½   

 d) Packaging Material ¼iSdsftax lkekxzh½ 

Section-B 

Q.2. fuEufyf[kr esa ls fdUgha nl iz'uksa ds mRrj nasA    ¼10x2=20 marks) 
 Answer any ten of the following question in brief? 
1.  fdUghsa ikap cVu flykbZ e'khu ds Hkkxksa dh ppkZ dhft,\ 

 Discuss any five part of button sewing machine? 
2.  ,eczksMjh e'khu ls vki D;k le>rs gS\ 
 What do you mean Embroidery Machine? 
3.  e'khu dk j[k&j[kkoA\ 
 Maintenance of Machine? 
4.  fdUghs ikap flaxy uhMy ykWd fLVd e'khu ds iqtksZ ij ppkZ djsa\ 
 Discus any five parts of Single Needle Lock Stitch Machine? 
5.  /kkxk fuekZ.k ds vk/kkj ij oxhZdj.k djsa\ 
 Classification based on thread construction? 
6.  fuMy esa 'kkVZ XyksCk D;k gksrh gS\ 

 What is Short Glove in needle? 
7.  VsDlVkbZy QkbZcj ls vki D;k le>krs gSS\ 

 What do you mean by Textile Fibre? 
8. QSDVjh mRiknu iz.kkyh D;k gS\ 

 What is Factory Production System? 
9.  xkjesaV mRiknu esa fofHkUu izfrfØ;k,a D;k gS\ 

 What is the Garment Production System? 
10.  ,d gfjr vFkZO;oLFkk D;k gS\ 



 Define Green Economy? 
11. oMZ izkslslj D;k gS\ 

 What is Word Processor? 
12. fdUgha nks rjg dh flykbZ e'khu ij ppkZ djsa\ 

 Explain any two types of Sewing Machine? 
Section-C 

Q.3. fdUghsa pkj iz'uksa ds mrj nsaA     ¼4X3=12 marks) 
 Answer any four question. 
1.  flykbZ e'khu dh lqbZ;ksa dks ifjHkkf"kr dhft,\ lqbZ ds fofHkUu Hkkxksa dks le>kbZ,A 

 Define Sewing Machine Needle? Explain various parts of the needle. 
2. diMs ds fy, /kkxs dh mi;qDrk D;k gS\ 

 What is suitability of thread of fabrics? 
3. vksojykWd e'khu dk ifjp; vkSj egRo crk,a\ 

 Introduction and importance of over lock stitch machine? 
4.  vksojykWd flykbZ e'khu ds lapkyku ds  pj.k d;k gS\ 

 Operating steps of over lock stitch machine ? 
5. csYV ywi flykbZ e'khu dk ifjp;\ 

 Introduction to belt loop sewing machine? 
6.  cVugksy flykbZ e'khu ds fofHkUu Hkkxksa ij ppkZ djsa\ 

 Discuss the different part of buttonhole sewing machine? 
 

 

  



Apparels, made ups & Home Furnishing 
Syllabus of  Class XIth 

Part A: Employability Skills 
 

(M.M - 10 
marks) 

UNIT 1: Communication skills -I  
UNIT 2: Self -management skills -I  
UNIT 3: Information & Communication Technology 
Skill-I 

 

UNIT 4: Entrepreneurial  skills-  I  
UNIT 2: Green skills -I  

 
Part B: Vocational Skills (M.M-30 

marks) 
UNIT 1: Production Technology  
UNIT 2:Introduction to Industrial Sweing Machine  
UNIT 3: Machines for seam finishes   
UNIT 4: Machine for ornamental stitches  
UNIT 5: Machine for attachments  
UNIT 6: Personal Hygiene & Cleaning and mantence 
at work place. 

 

 

Distribution of marks 
 
 

S.No. NO. OF QUESTIONS Marks  
Q.1 8 01       8X1  = 08 
Q.2 11(any ten) 2      10X2 = 20 
Q.3 05(any four) 3       4X3  = 12 
                                                                      Total marks      =       40 

 
 
 
 
 
 
 


